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5 ULUogno 4-2

Mathematica 00 000000000000000000000000D00000000
00000 (000)d
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Al 20000000

In[1] := Plot3D[x"2-y~2,{x,-1,1},{y,-1,1}]
In[2] := ContourPlot[x"2-y~2,{x,-1,1},{y,-1,1}]
In[3] := Needs["Graphics‘ImplicitPlot‘"]
In[4] := ImplicitPlot[x"2-y~2==0,{x,-1,1}]

A2 O0O0OC

googobodgboobbooobobooboobbooboooobbooboboobo
gbobobooggd
g

flz,y) = (22— e ) 0O0000000000000
(1) Vf(z,y) 00000(2) fO Hesse 0000000 (3) f00000000

A21 0O00OO0O0OOO

f=(x"2-y"2)Exp[-(x"2+y~2)]

fx=D[f,x]

fx=Simplify[%]

fy=Simplify[D[f,y]]

Solve [{fx==0,fy==0},{x,y}]

gooooad

Mathematica 4.0 00000000 (OOOOODO) O0OODOOOOO
000 Expl-(x"2+y"2)] OO0OODOOOOOOODOOOOODOOOOOO

s=Solve [{Exp[x~2+y~2] fx==0,Exp[x~2+y~2] fy==0},{x,y}]
goooOoOoOoOOODOOODOOOOOOOOOOOOOOO

Plot3D[f,{x,-2,2},{y,-2,2}]
000000000@O0000, (2)FiledO Quit, (3) ¢-.q DOO0OO

ContourPlot [f,{x,-2,2},{y,-2,2}]
ooo0,000 200
ooooooo



fxx=D[fx,x]
fxx=Simplify [%]
fxy=Simplify[D[fx,y]]
fyx=Simplify[D[fy,x]]
fyy=Simplify[D[fy,y]]

gooobbbbooooobobbboooouooo
h={{fxx,fxy},{fyx,fyy}}
S

h/. {x->-1,y->0}
Eigenvalues[%]

oooo @oo)

Eigenvalues[h /. {x -> -1, y -> 0}]
f/.{x->-1,y->0}

Oo0 1/E

Eigenvalues[h /. {x -> 0, y -> 03}]
oooad

Eigenvalues[h /. {x -> 1, y -> 0}]
oooco @oo)

f/.{x-—>1,y >0}

od 1/E

Eigenvalues[h /. {x -> 0, y -> -1}]
oooo @oo)

£/.{x->0,y > -1}

oo -1/E

Eigenvalues[h /. {x -> 0, y -> 1}]
oooo @oo)
£f/.{x->0,y->1}

o0 -1/E
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(—kyokuchi.m D000 —00b0bOOob0o0b0odn oyabun OO OO

In[1]:

In[2]:

In[3]:

Out[3]=
> {x

> {y

oyabunj, math

Mathematica 4.0 for Solaris

Copyright 1988-1999 Wolfram Research, Inc.
-- Motif graphics initialized --

<< /home/syori2/kyokuchi.m

flx_,y_]:=x y(x"2+y~2-4)

s=kyokuchiten[f]

x> -2,y >0} {x->-1,y > -1}, {x > -1, y -> 1},

>0,y >0} {x->1,y->-1}, {x->1, 3y ->1}, {x ->2, y > 0},

-> -2, x >0}, {y > 2, x > 0}}

In[4] := bunsekils,f]
{x->-2,y->0}, 0O0O0ODO

{x > -1, y > -1}, 00 £(x,y)=-2
{x->-1, y > 1}, 00 £(x,y)=2
{x >0, y->0}, 00000
{x->1,y->-1}, 00 £(x,y)=2
{x->1,y->1}, 00 f(x,y)=-2
{x->2,y->0}, 00000

{y >-2, x>0}, 00000

{y >2,x->0}, 00000




